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QUESTION 1

Which two combinations are supported when configuring a Virtual Chassis Fabric? (Choose two.) 

A. two spine nodes and 28 leaf nodes 

B. four spine nodes and 20 leaf nodes 

C. four spine nodes with 16 leaf nodes 

D. two spine nodes and 16 leaf nodes 

Correct Answer: CD 

 

QUESTION 2

You have deployed a VXLAN as shown in the exhibit Leaf1, leaf3, spine1, and spine2 have been configured as VTEPs.
Host1 cannot communicate with host2. 
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Referring to the exhibit, how would you solve this problem? 

A. The VLAN ID on the link connected to host2 must be changed to VLAN 100. 

B. A DCI connection must be created between the VLANs. 

C. A Layer 3 VXLAN gateway must be configured on at least one of the devices. 

D. Host1 and host2 must be placed in the same VRF. 

Correct Answer: C 

 

QUESTION 3

Referring to the exhibit, Host 1 and Host 3 have exchanged traffic. 
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` 

In this scenario, which statement is true? 

A. Leaf 2 does not learn Host 1\\'s MAC address until Host 1 and Host 2 send traffic to each other. 

B. Leaf 2 learns Host 1\\'s MAC address through periodic updates from Spine 2. 

C. Leaf 2 learns Host 1\\'s MAC address when Host 3 learns Host 1\\'s MAC address. 

D. Leaf 2 learns Host 1\\'s MAC address when Leaf 1 queries Host 1. 

Correct Answer: D 

 

QUESTION 4

Which statement is true about a Data Center Interconnect over an IP network? 

A. Layer 2 data must traverse a point-to-point link. 

B. Layer 2 data must traverse an MPLS LSP. 

C. Layer 2 data must be encapsulated. 

D. Layer 3 data must be encapsulated. 

Correct Answer: B 

JN0-681 PDF Dumps | JN0-681 Study Guide | JN0-681 Exam Questions                                4 / 5

https://www.passapply.com/jn0-681.html
https://www.passapply.com/jn0-681.html
https://www.passapply.com/jn0-681.html


https://www.passapply.com/jn0-681.html
2024 Latest passapply JN0-681 PDF and VCE dumps Download

 

QUESTION 5

Referring to the exhibit, not all routes are being exchanged by EBGP peers. 

In this scenario, which BGP parameter would solve this problem? 

A. multihop 

B. multipath 

C. multipath multiple-as 

D. as-override 

Correct Answer: D 
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